ghlk;   : ,yf;fpaj; jpwdha;T
                          gFjp – m                         5×2=10
gpd;tUk; midj;J tpdhf;fSf;Fk; tpil jUf.
1. VNjDk; ,uz;L jpwdha;T tiffspd; ngah;fisr; Rl;Lf.
2. jpwdha;T - tiuaiw jUf.
3. mZFKiw tpsf;fk; jUf.
4. cstpay; mZFKiw vd;why; vd;d?
5. Nfhy;hpl;[; ftpij vd;gjw;Fj; jUk; tpsf;fk; ahJ?
 
                             gFjp – M                         5×4=20
gpd;tUk; midj;J tpdhf;fSf;Fk; xUgf;f mstpy; tpil jUf.      
6. jpwdha;tpd; tsh;r;rp epiyfs; Fwpj;J tpsf;Ff.
7. xg;gPl;LKiwj; jpwdha;itr; rhd;Wld; tpsf;Ff.
8. mZFKiwapd; ,d;wpaikahik Fwpj;J vOJf.
9. tuyhw;wpay; mZFKiwiar; rhd;Wld; epWTf.

                             gFjp - ,                         2×10=20
gpd;tUk; midj;J tpdhf;fSf;Fk; ehd;F gf;f mstpy; tpil jUf.
10. jpwdha;tpd; tiffs; Fwpj;Jf; fl;Liuf;f.
11. mZKiwapd; tiffisr; rhd;Wld; fl;Liuf;f.


                             gFjp – m                         10×2=20
gpd;tUk; midj;J tpdhf;fSf;Fk; tpil jUf.
1. ,yf;fpak; vd;gjw;F `l;rd; $Wk; tiuaiw ahJ?
2. ,iaGf; fw;gid vd;why; vd;d?
3. jkpopy; Kjd;Kjypy; jpwdha;T Fwpj;J E}y; vOjpaJ ahh;?> me;E}ypd; ngah; ahJ?
4. jpwdha;tpd; ngah;fs; VNjDk; ,uz;bidr; Rl;Lf.
5. mZFKiw tiuaiw jUf.
6. rKjhatpay; mZFKiw vd;why; vd;d?
7. Gjpdk; vd;why; vd;d?
8. ftpij Fwpj;J u];fpdpd; fUj;ijf; $Wf.
9. K.t.tpd; E}y;fspd; ngah; rpytw;iwf; $Wf.
10. K.t.tpd; ngw;Nwhh; ahth;?

                             gFjp – M                         5×5=25
gpd;tUk; tpdhf;fSf;F xUgf;f mstpy; tpil jUf.      
11.(m) ,yf;fpa tbtk; Fwpj;J tpsf;Ff.
                  (my;yJ)
  (M) `l;rd; Fwpg;gpLk; ,yf;fpa epiyfsd;fs; Fwpj;J vOJf.
12.(m) jpwdha;tpd; gad;fs; Fwpj;Jj; njspTgLj;Jf.
                  (my;yJ)
  (M) jpwdha;tpd; tsh;r;rp Fwpj;J tpsf;Ff.
13.(m) mZFKiwapd; ,d;wpaikahik Fwpj;J vOJf.
                  (my;yJ)
  (M) tuyhw;wpay; mZFKiwiar; rhd;Wld; tpsf;Ff.
14.(m) ftpijapd; fl;likg;G Fwpj;J vOJf.
                  (my;yJ)
  (M) rpWfijapd; cs;slf;fk; gw;wp tpsf;Ff.
15.(m) K.t.tpd; njhopy;> Mw;wpa nghWg;Gfs; Fwpj;J vOJf.
                  (my;yJ)
  (M) tpsf;fKiwj; jpwdha;tpidj; njspTgLj;Jf.

                             gFjp - ,                         3×10=30
vitNaDk; %d;W tpdhf;fSf;F %d;W gf;f mstpy; tpil jUf.
16. fw;gidapd; tiffs; Fwpj;Jf; fl;Liuf;f.
17. jpwdha;tpd; tiffs; Fwpj;Jj; njhFj;Jiuf;f.
18. rKjhatpay; kw;Wk; cstpay; mZFKiwfisr; rhd;Wld; epWTf.
19. ftpijapd; tpsf;fk; $wp> mjd; cs;slf;fk; fl;likg;G Fwpj;J tpsf;Ff.
20. K.tujuhrdpd; jpwdha;Tg; gzpfs; Fwpj;Jj; njhFj;Jiuf;f.

                             gFjp – m                         10×2=20
gpd;tUk; midj;J tpdhf;fSf;Fk; tpil jUf.
1. kuGtopj; jpwdha;T vd;why; vd;d?
2. jpwdha;tpd; tiffisf; $Wf. 
3. `l;rd; ,yf;fpaj;jpw;Ff; $Wk; tiuaiwia vOJf.
4. fw;gid vd;why; vd;d?
5. ctikazp vd;why; vd;d?
6. cs;Siw ctik Rl;Lf.
7. fijkhe;jh;fspd; tifapidf; $Wf.
8. rpWfij vd;why; vd;d?
9. rpWfijapd; fhy vy;iyiaf; $Wf.
10.ehlfr; rpf;fypd; tiffisf; $Wf.

                             gFjp – M                         5×5=25
gpd;tUk; tpdhf;fSf;F xUgf;f mstpy; tpil jUf.      
11.(m) ahh; jukhd jpwdha;thsh;fs;? $Wf.
                  (my;yJ)
  (M) tuyhw;WKiwj; jpwdha;tpid tpsf;Ff.
12.(m) Fwpf;Nfhs; epiyia tpsf;Ff.
                  (my;yJ)
  (M) ,yf;fpaj;jpy; fUj;J ngWk; ,lj;ijr; Rl;Lf. 
13.(m) jw;rhh;Gf; ftpijia vLj;Jf;fhl;Lf.
                  (my;yJ)
  (M) fijnghjp ghl;Lf;Fhpa jdpj;j ,ay;Gfisf; $Wf.
14.(m) ehtypd; fijkhe;jh;fisg; gw;wp tpsf;Ff.
                  (my;yJ)
  (M) Gjpdj;jpw;Fk; rpWfijf;Fk; chpa Ntw;Wikiaf; $Wf.
15.(m) ehlfj;jpd; fijg;Nfhg;ig tpsf;Ff.
                  (my;yJ)
  (M) GJf;ftpijapd; Nghf;iff; $Wf.

                             gFjp - ,                         3×10=30
vitNaDk; %d;W tpdhf;fSf;F %d;W gf;f mstpy; tpil jUf.
16. ciuahrphpah;fs; jpwdha;thsh;fsh? – Ma;f.
17. fw;gid vd;why; vd;d? mjd; tiffis tpsf;Ff.
18. ftpijapd; $Wfis Muha;e;J tpsf;Ff.
19. ehlf mikg;GfisAk; mtw;wpd; ,ay;GfisAk; tpthp.
20. GJf;ftpijapd; Njhw;wk; tsh;r;rp Fwpj;J tpthp.




1. jpwdha;thsh; vdgth; ahh;?
2. mofpay; jpwdha;T vd;why; vd;d?
3. ,yf;fpak; vd;why; vd;d?
4. czh;r;rpfspd; tiffs; ahit?
5. jw;rhh;G ftpij vd;why; vd;d?
6. jkpopd; GJf;fpijapd; Kd;Ndhbfs; ahth;?
7. ehty; nghUs; jUf.
8. rpWfij tpsf;fk; jUf.
9. ehlf;fj;jpd; gz;Gfs; ahit?
10.GJf;ftpij vd;why; vd;d?

                             gFjp – M                         5×5=25
11.(m) jpwdha;thsh;fSf;Fhpa mbg;gil jFjpfs; ahit? tps;f;Ff.
                  (my;yJ)
  (M) kjpg;gPl;L Kiwj;; jpwdha;tpid tpsf;Ff.
12.(m) fw;gidapd; tiffis tpsf;Ff.
                  (my;yJ)
  (M) eilapd; rpwg;gpay;Gfis tpsf;fp tiuf. 
3.(m) ftpij Fwpj;J ntspehl;lthpd; fUj;Jf;fis tpsf;Ff.
                   (my;yJ)
  (M) ftpijapy; mzp ngWk; ,lj;ij tpthp.
14.(m) ehty;fspy; ,Ue;J rpWfij NtWgLk; ,lq;fisf; $Wf.
                  (my;yJ)
  (M) ehty;fspy; ciuahly; ngWk;; ,lj;ij tpsf;Ff.
15.(m) ehlfr; rpf;fypd; tiffis tpsf;fp tiuf.
                  (my;yJ)
  (M) GJf;ftpijf;Fhpa ghLnghUl;fis tpsf;fp tiuf.

                             gFjp - ,                         3×10=30
vitNaDk; %d;W tpdhf;fSf;F %d;W gf;f mstpy; tpil jUf.
16. jpwdha;T tiffisf; fl;Liuf;f.
17. ,yf;fpak; cUtFk; fsd;fisf; fl;iuf;f.
18. ftpijAk; ,aw;ifAk; vDk; $w;iw Ma;f.
19. rpWfijapd; Njhw;wk; tsh;r;rp Fwpj;J tpthp.
20. ehlf;fjpw;Fhpa fsKk; fhyKk; Fwpj;Jf; fl;Liuf;f.
                             gFjp – m                         5×2=10
gpd;tUk; midj;J tpdhf;fSf;Fk; tpil jUf.
1. ,yf;fpak; vd;gjw;F `l;rd; jUk; tpsf;fk; ahJ?
2. ,yf;fpaj; Njhw;wj;jpw;fhd %yfhuzq;fs; vit? 
3. gilg;Gf; fw;gid vd;why; vd;d?
4. jpwdha;T tpsf;fk; jUf.
5. jpwdha;T vDk; nrhy;iy ahh;? vg;NghJ? vjpy; gad;gLj;jpdhh;?
 
                             gFjp – M                         5×4=20
gpd;tUk; midj;J tpdhf;fSf;Fk; xUgf;f mstpy; tpil jUf.      
6. `l;rd; $Wk; ,yf;fpa mikg;gpw;fhd epiyfsd;fs; Fwpj;J tpsf;Ff.
7. ,yf;fpa tiuaiwfs; Fwpj;J tpsf;Ff.
8. fw;gid ,yf;fzk; Fwpj;J tpsf;Ff.
9. jpwdha;thsUf;Fhpa jFjpfs; Fwpj;J tpsf;Ff.

                             gFjp - ,                         2×10=20
gpd;tUk; midj;J tpdhf;fSf;Fk; ehd;F gf;f mstpy; tpil jUf.
10. fw;gid mjd; tiffs; Fwpj;Jf; fl;Liuf;f. 
11. jpwdha;Tk; mjd; tsh;r;rp epiyfs; Fwpj;Jk; njhFj;Jiuf;f.







